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Name:

Trueor False (2 points each)

1

In the C++ program fragment

count = 1;

while (count < 10)
count ++;

cout << "Hell o";

the output statement that prints "Hello" is not part of the body of the loop.

In C++, aninfinite loop results from using the assignment operator in the following way:

while (gama = 2)
{

}. .
It ispossible to supply different argument names every time afunction is called.

If amodule conssts of only asingleline, it is usudly best to code it directly into the
program rather than turn it into a function.

If there are severa items in a parameter list, the compiler matches the forma and
arguments by their relative positionsin the forma and argument lists.

Any parameter that can be classified as both incoming and outgoing must be coded as
areference parameter.

A switch expression can be of any smple datatype.

The body of a Do-While loop will always execute at least once, whereas the body of a
For loop may never execute.

Multiple Choice (2 points each)

0.

What isthevalue of | oopCount after control exits the following loop?

oo o

| oopCount = 1;
whil e (1 oopCount <= 145)
{

al pha = al pha + 7;

| oopCount ++;

144
145
146



10. Parameter passage by valueisused if aparameter'sdataflow is
one-way, into the function.

one-way, out of the function.

two-way, into and out of the function.

aand b above

b and c above

Pop o

11. Indicate where (if at al) the following loop needs a priming read.

sum = 0; // Line 1

while (inFile) /1l Line 2

{ /1 Line 3
sum = sum + nunber; /!l Line 4

i nFil e >> nunber; // Line 5

} /1 Line 6

between lines 1 and 2
between lines 2 and 3
between lines 3 and 4
between lines4 and 5
No priming read is necessary.

Pop o

12. Given theinput data

2510 6 -1

what is the output of the following code fragment? (All variables are of type i nt )

sum = 0;

cin >> nunber;
while (number !'= -1)
cin >> nunber;

sum = sum + nunber;

}

cout << sum << endl;

15
41
40
16
no output--thisis an infinite loop

Pop o

13. Given the function prototype

void Fix( int& float );

which of the following is an appropriate function cal? (sonelnt is of type int, and
soneFl oat isof type fl oat.)

Fi x(24, 6.85);

soneFloat = 0.3 * Fix(sonelnt, 6.85);

Fi x(sonmelnt + 5, soneFloat);

aand c above

none of the above

Poo T



14. Consider the function definition
voi d DoThi s( inté& al pha,

int beta )
{ .
int tenp;
al pha = al pha + 100;
tenp = beta;
beta = 999;
}

Suppose that the caller has integer variables gamma and del t a whose values are 10 and 20,
respectively. What are the values of gamma and del t a after return from the following
function call?

DoThi s(gamma, del t a) ;

ganma =10and delta=20
ganma =110and delta=20
ganma =10and del t a =999
ganma =110and del t a =999
none of the above

PO o

15. What is the output of the following code fragment? (All variablesare of type i nt.)
limt = 8;
cout << 'H ;
| oopCount = 10;
do
{

cout << 'E';

| oopCount ++;
} while (loopCount <= 1limt);
cout << "LP';

HLP
HELP
HEELP

HEEELP
none of the above

®Poo o

16. Which of the loops below produces the same number of loop iterations as the following loop?
(count sof type int.)

for (count = 1; count <= 10; count ++)
DoSonet hi ng() ;

a for (count = 10; count >= 1; count--)
DoSonet hi ng() ;

b. for (count = 0; count < 10; count++)
DoSonet hi ng() ;

c. for (count = 10; count >= 0; count--)
DoSonet hi ng() ;

d. aandb above

e. a b, andcabove



17. Which For loop is equivalent to the following While loop? (All variables are of type i nt .)

count = -5;
while (count <= 15)
{
sum = sum + count;
count ++;
}
a for (count = -5; count <= 15; count ++)
sum = sum + count;
b. for (count = -5; count <= 15; count++)
{
sum = sum + count;
count ++;
}
c. for (count = -5; count <= 15; count ++)
{
count ++;
sum = sum + count;
}
d. for (count = 1; count <= 21; count++)
sum = sum + count;
18. Which of the following is not a C++ looping control structure?
a While
b. For
c. Do-While
d. Switch

Fill in the Blank (2 points each)

19. A(n) isan individual passthrough, or repetition of, the body of aloop.

20. Theoperators&&,| | ,and! areknown as operators.

21. A(n) -controlled loop is one in which the number of repetitionsis knownin
advance.
22. When a function uses a(n) parameter, the parameter receives a copy of the
argument’s value.
23. The pass by mechanism is used for the parameter al pha below:
voi d DoSormet hi ng( char & al pha,
char beta );
24. A(n) isavariable or expression listed in acall to afunction.

25. A Switch statement, like an If statement, is a(n) control structure.




26. (12 points) What isthe output of the following program segment? (All variables are of typei nt .)

for (i =1; i <= 5; i++)
{
sum = 0O;
for (j =1, ] <=1i; j++)

sum = sum + j;

cout << sum <<

27. (14 points) Write avoi d function that readsin a specified number of f | oat valuesand returns
their average. A call to thismight look like

Get MeanOf (5, nean);

where the first argument specifies the number of data values to be read, and the second argument contains
the result. Document the data flow of each parameter with/* in */,/* out */, or/* inout
*/.

28. (12 points) Write a program segment that uses a for loop to sum the odd integers from 16 through 36,
inclusive.



29. (7 points) the program below has a function named Change. Fill in the values of all variables before
and after the function is called. Then fill in the values of all variables after the return to the main
function. (If any value is undefined, write U instead of a number.)

#i ncl ude <i ostreanp
usi ng namespace std;
void Change (int, int&);
int main()
L

int a;

int b;

a 10;

b 7;

Change (a, b);

cout << a << << b << endl;
return O;

voi d Change (int X,

int&y)
{
int b;
b = x;
y =y + b
X =Y;
}
Just before Change iscalled: In Change when control entersthe function:  After return from Change:
a X a
b y b

b

30. (5 points) Number the marked statements in the following program to show the order in which they
are executed.

#i ncl ude <i ostreanp

usi ng namespace std;

void DoThis (int& int&);

int main()

{
i nt nunber1;
i nt nunber 2;
cout << Exercise ;
DoThi s (nunberl, nunber?2);
cout << nunberl << << nunber2 << endl;
return O;

void DoThis (int& val uel,
i nt& val ue2)

int val ue3;

cin >> val ue3 >> val uel;
val ue2 = val uel + 10;



